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3 2. 480 1 2.520
4 4. 640 1 0. 360
/NE 7.140 5. 410 5 5. 490 12. 550
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SRR T t=15cm 8b5. 40 7.40 862. 80 863
As
SHERURE T t=15cm 213. 85 2.22 216. 07 220
BEL
b T BH 0.20 275. 87 5.42 281.29 280
ITF2S
HET BH 0.20 80. 84 0.84 81.68 82
RC-40
HET BH 0.20 117. 62 3.89 121. 51 120
EHIAs
SEREIRT t=8cm 213. 85 2.22 216. 07 220
BAELA
AT BH 0.20 213. 85 2.22 216. 07 220
BRI
AT BH 0.20 213. 85 2.22 216. 07 220
BT Asifk 32. 08 0.33 32.41 32
BT T 275. 87 5.42 281.29 280
+ET H=1. 80m 3.70 3.70 3.7
WmEER As
SRR T t=15cm 427.70 3.70 431. 40 431
As
SHERURE T t=15cm 427.70 5.92 433. 62 430
As
SHERURE T t=8cm 106. 93 3.56b 110. 48 110
BEL
b T BH 0.20 79.13 0.75 79. 88 80
BT Asifk 81.26 0.73 81.99 80
BT T 79.13 0.75 79. 88 80
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SEARRT t=bcm 641. 65 5.92 647. 47 600
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SEARRT t=10cm 641. 65 5.92 647. 47 600
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v =X 7L 1115cm 443. 60 3.70 447. 30 450
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SERREI T t=15cm 1.000 X 2 = 2.000 X 427.700 |855.400 | m | 855.40
As
SEEREUET| t=15cm 0.500 X 1.000 = 0.500 X 427.700 |213.850 | m?| 213.85
i
HEMRIEEIT | BH 0.20 0.500 X 1.290 = 0.645 X 427.700 | 275.867 | m® | 275.87
L#b
HWERT BH 0. 20 0.500 X 0.390 = 0.195
GEE LS
675 0.090 * X ; X 1/4 = A 0.006
B = 0.189 X 427.700 | 80.835 | m® 80. 84
RC—40
HWERT BH 0. 20 0.500 X 0.550 = 0.275 X 427.700 |117.618 | m® | 117.62
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Il T  t=8cm 0.500 X 1.000 = 0.500 X 427.700 |213.850 | m? | 213.85
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AT +ab 0.500 X 1.290 = 0.645 X 427.700 |275.867 | m® | 275.87
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SERREI T t=15cm 1.000 X 1 = 1.000 X 427.700 |427.700 | m | 427.70
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SLERRTREE T t=8cm 0.500 X 0.500 = 0.250 X 427.700 |106.925 | m? | 106.93
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SEEREUET| t=15cm 1.000 X 1.000 1. 000 X 427,700 |427.700 | m? | 427.70
i
HEMRIEEIT | BH 0.20 0.500 X 0.170 0. 085
1.000 X 0.100 0. 100
B 0.185 X 427.700 | 79.125 | m® 79.13
LS T AsH 0.500 X 0.080 0. 040
1.000 X 0.150 0. 150
B 0. 190 X 427.700 | 81.263 | m® 81.26
LS T +w EHEICRE T 0.185 X 427.700 | 79.125 | m? 79.13
R
HPPEARIAT [ t=5em 1.500 X 1.000 1. 500 X 427.700 | 641.550 | m® | 641.55
HLRL
HPPEARIAT [ t=10cm 1.500 X 1.000 1. 500 X 427.700 | 641.550 | m® | 641.55
LEMER
BAE T BH 0. 20 1.500 X 1.000 1. 500 X 427.700 |641.550 | m? | 641.55
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+ T % & B &
+T®E [2] HPPE@ 75
EE (EEAS)
kY H=2 40m (£B3T)
£a R
BAEEIEAs
@7 BEOAMIE g
(RC-40) B
B ENE g
(RC-40) ~
BEYARTG
(RC-40)
AN
%%O E
H 3 3
+#H H =  2.400
AR d = 0.090
PEHIE h = 2.440
e WHIE b = 0.600
& 5 g i B L = 3.70
¢ e D
a4y FarPZoAA
% 7| Bk ~hik " e HEAN| B B
1m¥%4 i 7
As
SERREI T t=15cm .000 X 2 = 2.000 X 3,700 7.400 | m .40
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SEEREUET| t=15cm .600 X 1.000 = 0.600 X 3,700 2.220 | m? .22
i
HEMRIEEIT | BH 0.20 .600 X 2.440 = 1.464 X 3,700 5417 | m® .42
L#b
HWERT BH 0. 20 .600 X 0.390 = 0.234
GEE LS
675 .090 ' X g X 1/4 = A 0.006
7 = 0.228 X 3,700 0.844 | m® .84
RC—40
HWERT BH 0. 20 .600 X 1.750 = 1.050 X 3,700 3.885 | m® .89
EohiAs
Il T  t=8cm .600 X 1.000 = 0.600 X 3,700 2.220 | m? .22
FHAHA
BAE T BH 0. 20 .600 X 1.000 = 0.600 X 3,700 2.220 | m? .22
AR
BAE T BH 0. 20 .600 X 1.000 = 0.600 X 3,700 2.220 | m? .22
FRHLAOVY T | Ashl .600 X 0.150 = 0.090 X 3.700 0.333 | m® .33
T +-Ab .600 X 2.440 = 1.464 X 3,700 5.417 | m® .42
+8T H=1. 80m 1. 000 X 3,700 3.700 | m .70
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SEEREEET|  t=8cm 0.600 X 1.600 = 0.960 X 3.700 3.552 | m? .55
As
SEEREUET| t=15cm 1.000 X 1.600 = 1.600 X 3,700 5.920 | m? .92
i
HEMRIEEIT | BH 0.20 0.600 X 0.170 = 0.102
1.000 X 0.100 = 0.100
7 = 0.202 X 3,700 0.747 | m® .75
LS T AsH 0.600 X 0.080 = 0.048
1.000 X 0.150 = 0.150
7 = 0.198 X 3,700 0.733 | m® e
LS T +w RHIEIZE U = 0.202 X 3.700 0.747 | m? .75
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HEIFE o 7 2 125:%0 1 oy
HEIFE o 7 2 (235%0 1 oy
A7 (JERR) 60 . ;7
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)
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By Z. b % BIIH
} O SR - YmT| % % E .
%KE | HE (m) BE (m) YN TREEE T -
® @) ® @ ® ® =D I C=D I (=) (m)
1 1. 000 1 3. 000
2 0. 800 1 3. 200
3 3.470 1 0. 530
4 1. 500 1.13 2 1. 370
7 6.770 1. 130 0.00 5 0 0 8. 100
(FEiE)
o N Y
R 6. 770 1.130 = 7.90 m
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REMESFHE

% b Fodk~tik | B =1 = B | REEE
ASP-T 5.0%250%2,500 (Bll#EEtHEKLY0.98 #1.0H)
BEHRR RAFERAHE | m 370 / 1.00 3.70
FRE=E kg/m ERE i1
ASP-TL 5.04250+3000] t 370 x 5920 3.00 x 2.00 1,314.24 1.3
EB#ME110 XRERHE m/K [
FILSHEREEIL | BHER4000| K 370 / 400 * 2.00 * 2.00 3.70 40
ZA/100m m AR/m
IKEKXHHR—k EET70~1,300] &K 50.00 / 100.00 = 0.50
RRERHE A/m
370 * 050 * 2.00 3.70 40




REMEHEHE

% b Fodk~tik | B =1 = B | REEE
A/t B B A/t t
BEMRBREN 2% A | 105  * 100 + 5000 )»*  1.30 = 6,637
EB#ME110 HARH A/8 B X
TIZRIERECLEH| M ER4000| H 500 + 68 * 1.00 * 4.00 = 772
HARH A/8 B X

KERXYR—+EH [FARKT70~1,300] H 500 + 110 * 1.00 * 400 = 940
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FEIMEE T THES)

4 b Feiktik B & = B | REEE
AS
SHEEIRUIET T t=20cmZET | m | ( 6.24 + 4.24 2.00 = 20.96 21.0
B BH0.28(0.20)m3
SR EEESIEAL | AS t=15cmBLF| i 6.24 * 4.24 = 26.46 26.0
BH0.28(0.20)m3
BRI T EEL m3 400 * 200 * 2.31 = 18.48
6.24 * 424 x* 0.82 = 21.70
B 40.18 40.0
AAEBERT RC-40 m3 | ( 6.24 * 424 - 400 * 2.00 ) 082 = 15.14 15.0
BHO0.28(0.20)m3 AS
ETEMT DT4t L=4.5kmLL F| m3 6.24 x 424 x* 0.10 = 2.65 30
BH0.28(0.20)m3 ) EEIT LY
ETEMT DT4t L=4.5kmELF| m3 40.18 = 40.18 40.0
AH-EHE SYTHESEE
RIEIET ZHIAS t=8cm | m 6.24 * 424 - 400 * 2.00 = 18.46
MAHEER
6.24 * 4.24 = 26.46
B 44.92 450
RC-40
HERAT t=20cm m 400 * 2.00 = 8.00 8.0
AHETE NS a9 —k
#£av4)—bT 18-8-40BB | m3 524 x 324 x* 0.15 = 2.55 2.6
3 BIREHEII—F
INREE S EELT AR m3 | ( 524 x 324 - 400 * 2.00 ) 0.15 = 1.35 1.0
A EfFCo BEIHERII)—+
ETEMT DT2t L=10.5kmELF| m3 1.35 = 1.35 1.0
ERELERT LY
N COHS(E) | m3 1.35 = 1.35 1.0
BRIREZET R/E3cm m | ( 524 + 324 2.00 * 1.00 = 16.96 17.0
HREILY
BREBET R/E3cm m 16.96 = 16.96 17.0
X ANES0LL T
HERREATL FEAE TmUTF| #& 30.0
LA
HEMREIRT BlHRE 2mUT| & 1.00 = 1.00 1.0
X5 T BlikE TmLTF| #& 29.0
AR ERMESEHEKRY
MATREIRET t 1.10 = 1.10 1.1
HEILY
MARREIRET t 1.10 = 1.10 1.1
BEIfR-SHSET m 6.00 * 3.00 = 18.00 18.0
HEILY
BIR-SHET m 18.00 = 18.00 18.0
BH0.28(0.20)m3 SYEER H
HmERET RC-40 m3 400 * 2.00 *( 231 - 0.35 ) = 15.68
fhEEa> o1 )—k
A 1.36 * 1.36 % 1.36 =| A252
¢ 400BL &
A( T % 04302, 400 % 0053 + 1437

RETMES T TEHES)




4 5 iR~k | B - = N B[ EREEE
+ 0053 + 059 ) A 031
BIH PR
6.24 * 424 *( 082 - 037 ) 11.91
B 24.76 25.0
B METHE1.8miLE
TERET M-30 t=20cm | m 6.24 * 424 26.46 26.0
B METHE1.8miLE
LFERET RC-40 t=17cm | m 6.24 * 424 26.46 26.0
HEXREA
SRR (T - 1A | EANmax=50| [g 1.0
AS HEEIERE
SHEIRYIET T t=20cmZET | m 455 + 1156 + 5.05 21.16 21.0
s BH0.28(0.20)m3 B IHRE (FFE)
SR EEESIFEAT | AS t=15cmBLF| m 40.15 40.15
SHEEIER (EE)
(2202 + 9.29 )* 1/2 15.66
55.81 56.0
BH0.28(0.20)m3 B IERE (FFE)
HWAERIT TEt m3 40.15 * 0.17 6.83
SHEEIER (EE)
(2202 + 9.29 )* 1/2 % 0.17 2.66
9.49 9.0
BH0.28(0.20)m3 AS SHEE1E 10 B (FFE)
BB T DT4t L=45kmEL F| m3 4015 * 0.08 3.21
SHEEIER (EE)
(2202 + 9.29 )* 1/2 % 0.08 1.25
4.46 40
BH0.28(0.20)m3 ) HMEEEIRE(REITLY)
BT DT4t L=45kmEL F| m3 9.49 9.49 9.0
B fF:E
BREET RENE t=10cm| m 40.15 40.15
EE
(2202 + 9.29 )* 1/2 15.66
55.81 56.0
M- BEE B IHRE (FFE)
FRAI7)LNELE T | sasias e=100m 75443-+  m 40.15 40.15
SHEEIER (EE)
(2202 + 9.29 )* 1/2 15.66
55.81 56.0
M- BEE B IHRE (FFE)
T RAT7 LR E T | BHAS t=50m 4993-H m 40.15 40.15
SHEEIER (EE)
(2202 + 9.29 )* 1/2 15.66
55.81 56.0
B
I—F%2 5T M15¢cm m 11.60 + 9.60 21.20 21.0
&EN
I—F5T M15cm m 9.20 9.20 9.0
- 2




% b FIR~TE B =® B |ERETEE
B R
=3 5T rf160cm m 3.90 3.90 40
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4 b Feiktik B & = B | REEE
AS
SR T t=20cmET [ m T o* 1614 = 5.07 50
B BH0.28(0.20)m3
SR EEESEAL | AS t=15cmBLF| T ox 1614 2 4.00 = 2.05 20
BHO0.28(0.20)m3 AS
ETEMT DT4t L=45kmLLF| m3 205 * 0.10 = 0.21 0.2
B r— 2y
EAREIT m 405 + 1.00 -  0.100 = 4.95 5.0
£ AYEHIFEIA AT m 4.05 4.1
r—L U Bl EIFT m 0.90 0.9
T
ETEMT DT4t L=4.5kmEL F| m3 T o* 1.590 2/ 400 =* 4.050 = 8.04 8.0
EhRa>9)—rT eaiil 1.0
FEAEEIERET = 1.0
My — LT FE m 33
IHiKET Shk#EKk | 4Fr 1.0
EKERR R il 1.0
BEET = 10
BH0.28(0.20)m3 S PR
HEERT RC-40 m3 o 1614 2 400 (4050 - 045 )= 7.37
fhEEa> 01—k
o 1614 2 400 * 1.40 =| A286
B 451 5.0
B FETHE1.8mak i
TREEET M-30 t=20cm | mi T ox 1614 2/ 4.00 = 2.05 20
B FETHE1.8mak i
rtERET RC-40 t=17cm | mi T ox 1614 2/ 4.00 = 2.05 20
AA-EHiE
RIEIBT FZHIAS t=8cm | m T ox 1614 % 4.00 = 2.05 2.0
AS HiE1EIHRE
SHEERUIET T t=20cmZET | m 348 + 400 + 347 + 4.01 = 14.96 15.0
T BH0.28(0.20)m3 SHEEIHR(EEEIREE-RESEERTE)
HEREEESEAT [AS t=15emEL F| 3156 -  15.66 = 15.90 16.0
BH0.28(0.20)m3 HiEEIHRE
HEIEHI T EEL m3 15.90 * 0.17 = 2.70 3.0
BHO0.28(0.20)m3 AS ShatiE R R
ETEMT DT4t L=45kmLLF| m3 15.90 * 0.08 = 1.27 1.0
BH0.28(0.20)m3 £ SHEEIRE(EEITXLY)
ETET DT4t L=45kmLLF| m3 2.70 = 2.70 30
T SHEEIHR(EEEIREE-RESEERETE)
BT REME t=10cm| 3156 -  15.66 = 15.90 16.0
W -EE HEEIHR(EEEIREE-RESEERETE)
FAT7)LNEE T | sa#tas =10em 75403+ m 3156 - 15.66 = 15.90 16.0
W -EE HEEIHR(EEEIIEE-RESEERETE)
FRI7ILEER BT [#Has =5em v91-H i 3156 -  15.66 = 15.90 16.0
B
I—F%5T M15cm m 4.00 = 4.00 40
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HESEMHTES)
B
% Bik<tix  |BE|E E g =X B | SBEtHE
1BAhS—H
INOBRHEE ¢ 200 x 2,000 A [2.000 23.0




HEAE R E(GHEAEE)

4 b Feiktik B & = B | REEE
EHET @ 200mm m 46.000 46.00 46.0
Hho—H%F

HHEEHRFT ¢ 200mm | 4FR 220

EMEAL ¢ 200mm m 46.000 46.00 46.0
it 3=

nOoT ¢ 200mm | 4P 1.00 + 1.00 2.00 20

HAHRET 4R 10

HEEEMBET| ¢200mm | 4 1.0

A a1—aR7

AT m 46.000 46.00 46.0
it

ST SRRME | 4P 1.00 1.00 1.0
EaJpe

$EYIT INBUSTEL | o FR 1.00 1.00 1.0
X EEE

BT INEUREEY | o 200 * 1.00 2.00 20

AFHTER A K IEEE
f£avsH)—bT 18-8-40BB | m3 200 * 1.00 * 0.60 0.6
& X EEEE L
NS EUEL T AA m3 0.60 0.60 1.0
A7 £E/Cco X EREE

ETEMT DT2t L=10.5kmELF| m3 0.60 0.60 1.0
ERELERT LY

N COHS(EE) | m3 0.60 0.60 1.0

REBEE=EHKT m3 T % 0318 % 46.000 3.65 40
LEEEHKRT LY

HEWIEAT m3 3.65 3.65 40
LEEATLY

EEMT m3 3.65 3.65 40
ERELERT LY

N gl m3 3.65 3.65 40




(%

&

=

T)



BERIAT(FHHAFES)

4 b R AR ~T 3% it | REt#=
HAE ST EEER
EREAL —EERN—F| K 3.0
FESTIEEER
EREAL —EERN—F| K 10.0
EAERE
BT -BART —EEXN—F| = 1.0
FEARRBERT 1.0




kR &= # B 8 W 6t & &



REMESFHE

4 b Fodk~tik | B =1 = B | REEE
m3 m/# ®
FiiEy FR%=E m 6.60 *  36.00 237.60
ma kg/m
FRE=E t 23760 *  60.00 14,256.00 14.3
BE#2L H-300%300% 10 % 15
WA X RM ER%=E m 315 * 2.00 6.30
FE#2L H-300%300% 10 %X 15
175 % 200 3.50
5 9.80
FERH kg/m
FRE= t 9.80 *  93.00 911.40
FEERH (A (EE#H x R T TKERRABEZESR)
91140 * 022 200.51
FEER#4 (B) (X & x BT T/KERRHFEEEESR)
91140 * 004 36.46
Hi 1,148.37 1.1
H-350 % 350 X 12 X 19
BIRZHM ER%=E m 518 % 200 10.36
CH-200x 90 X 8 X 11
( 500 + 318 ) 200 16.36
FRE=E kg/m
H-350x 350x 12x 19|  t 10.36 % 135.00 1,398.60 1.4
FRE=E kg/m
CH-200x90x8x 11| t 16.36 * 30.30 495.71 0.5
BIR AR m 1200 * 400 48.00 48.0

AREREHHEE 1 — 2




REMEHEHE

4 b Feiktik B & = B | REEE
A/t-B B M/t t
xR ER mE =K 75 % 3300 + 3000 )x 1430 = 78,292
A/t-B B M/t t
HE & H-300 M| ( 75 % 3300 + 3000 »* 1.10 = 6,022
A/t-B B M/t t
H-350 = I ¢ 75 % 3300 + 3000 ) 140 = 7,665
MA/m- 8 A M/m m
BIREH s wea® | A | ( 870 * 200 + 900 )% 48.00 =| 126,720
XEEERMI64E (THETE REIMEESEHE) &
EEERLMI658 (THEESE #HELESE) =329#338L7 5,
M/158 A A/t
BIREH PEEUNE1,500 | M 40,100 * 1.00 + 11,300 = 51,400

NESERAMSE(THEESE JETRELESH) &
EfEERM65E (THETE HERBSI) =203%18L9 5,

AREREHHEE 1 — 3
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